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N@hte> a=l@= lotsihnewalat#ni tsyohly%hkwa>
                        The reason  he has stripes  chipmunk


Wahu=n$se> o=n^ kwah o=n^ tshihatahkwahslu=n$he> ka>i=k^ ohkwa=l$ ahanuhw#tha>.


A long time ago just when   he was getting ready    this  bear for him to go to bed.

Tahnu w$= n#= ohkwa=l$  kohslakwe=k& k<s n<  waho=t@hwe>.  Tho kati> w$=  w@=lawe>

 And so the    bear   all winter customarily  when he sleeps.  There then  he arrived 

tsyohly%hkwa>.

 chipmunk.


Wah^=lu> ka>i=k^ tsyohly%hkwa>,  “Yah k< thau=t&= $= s< k^=tho   akan&=wete>.”      
 He said   this    chipmunk,   “Is it possible I also here for me to go to bed?”


Wah^=lu> ohkwa=l$,  “<wa=t&=,  nok tsi>  kohslakwe=k&  <s<=tahwe>.”


He said,   bear      “It is,      but      all winter   you’ll sleep.”


Wah^=lu> tsyohly%hkwa>,  “N#= ki> w@he>.” 


He said   chipmunk        “It’s OK.”   


Wah^=lu> ohkwa=l$, “N#= kw$= thi=k^ tkan@ktay< thonu n<hsa=l@te>,  akta tsi>nu n$= 
He said   bear,      “It’s     that    bed     there   you’ll lay  close where is

wakatn@ktay<.”   N<  kw$=    wahyanuhw#tha>.   N#=  w$= o=n^,   ne>n kohslakwe=k&

   my bed.      Now then    they went to bed.   Now then now       all winter   

<hoti=t@hwe>. 


they’ll sleep.     


Ka>i=k^ tsyohly%hkwa> kwah k< ok na>teka=l& khale> sahatk#tsko>.  N#= kati> w$= 


 This     chipmunk    just every little while   and again he’d get up.  So then

ka>i=k^ ohkwa=l$ yah tehan&=wehse>  tsi> tho niha=y#lha.  N< kw$=  wahohlo=l$= thi=k^

  this    bear   he didn’t like it  what he was doing there. So then  he told him that 

tsyohly%hkwa>,  “T@k<> she=k&     <sehsatk#tsko>.” 

 chipmunk,      “Not   again  will you get up again.”


Wah^=lu>  ohkwa=l$,  “I=k#lhe> se> n$= o=n^  auki=t@hwe>.”   Wahu=n$se> kati> w$= 


He said     bear,    “I want too  now  for me to sleep.”     A long time then 

tho l<ta=k#hle>.

there he lay.  


W@=lelhe>   n<  se>  &hte>      lo=t@=s     ka>i=k^  ohkwa=l$.  Nale>  osk<n^ha


he thought   now maybe   he was sleeping   this     bear.   Again very quietly 

sahatk#tsko>.      Okhale> kati> w$= thonu    n$=le>    ka>i=k^ tsyohly%hkwa>  tsi>nu 

he got up again.    And just then nearby   he walked   this     chipmun   by where

    niho=t@=s     ne>n ohkwa=l$.    

he was sleeping   the   bear.


Tahatk#tskwahte>   ka>i=k^ ohkwa=l$ okhna>   wah%hsle>  ka>i=k^ tsyohly%hkwa>.


He jumped up quickly  this    bear    then  he chased him  this     chipmunk.   

Yah  kati>  w$=  te>yot&=u   ne>n kwah otok^=u    yahoye=n@ke>. 

Well then (he) wasn’t able     to really get    a good hold of him. 

  
Kwah  nok  tsi>    wa>thow$skwahte>.      Tho  kati>  w$=     wa>tho=n@ke>

         Just only     he slipped through him.      There then     he scratched him

kwah  tsi>  nih@swes    ka>i=k^    tsyohly%hkwa>.   Tho   kati>   w$=     niyaw^=u

the length of his back     this        chipmunk.      That then is   how it happened

tsi>  lotsihnewalat#ni   lash&=ne   ne>n tsyohly%hkwa>.

 that he has stripes   on his back    the chipmunk.
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N@hte> a=l@= lotsihnewalat#ni tsyohly%hkwa>
                        The reason  he has stripes  chipmunk


Wahu=n$se> o=n^ kwah o=n^ tshihatahkwahslu=n$he> ka>i=k^ ohkwa=l$ ahanuhw#tha>. Tahnu w$=  n#= ohkwa=l$  kohslakwe=k& k<s  n< waho=t@hwe>. Tho kati> w$=  w@=lawe> tsyohly%hkwa.


Wah^=lu> ka>i=k^ tsyohly%hkwa>,  “Yah k< thau=t&  $= s<  k^=tho  akan&=wehte>.”

 
Wah^=lu> ohkwa=l$,  “<wa=t&=,  nok tsi>  kohslakwe=k&  <s<=tahwe>.”


Wah^=lu> tsyohly%hkwa>,  “N#= ki> w@he.”


Wah^=lu> ohkwa=l$, “N#= kw$= thi=k^ tkan@ktay< thonu n<hsa=l@te>,  akta tsi>nu n$= wakatn@ktay<.” N< kw$= wahyanuhw#tha>. N#= w$= o=n^, ne>n kohslakwe=k& <hoti=t@hwe>. 


Ka>i=k^  tsyohly%hkwa>  kwah k< ok  na>teka=l&  khale>  sahatk#tsko>.  N#= kati> w$=  ka>i=k^  ohkwa=l$  yah tehan&=wehse>  tsi>  tho niha=y#lha.  N< kw$=  wahohlo=l$=  thi=k^  tsyohly%hkwa>,  “T@k<> she=k& <sehsatk#tsko>.” 


Wah^=lu> ohkwa=l$, “I=k#lhe> se> n$= o=n^ auki=t@hwe>.”  Wahu=n$se> kati> w$= tho 

l<ta=k#hle>.


W@=lelhe>  n< se> &hte>  lo=t@=s ka>i=k^ ohkwa=l$.  Nale> osk<n^ha  sahatk#tsko>. Okhale>  kati> w$= thonu  n$=le>  ka>i=k^ tsyohly%hkwa> tsi>nu niho=t@=s ne>n ohkwa=l$. 


Tahatk#tskwahte>  ka>i=k^  ohkwa=l$  okhna>  wah%hsle>  ka>i=k^  tsyohly%hkwa>. Yah kati> w$= te>yot&=u  ne>n kwah otok^=u  yahoye=n@ke>. 


Kwah nok tsi> wa>thow$skwahte>. Tho kati> w$= wa>tho=n@ke> kwah tsi> nih@swes ka>i=k^  tsyohly%hkwa>.  Tho kati> w$=  niyaw^=u  tsi>  lotsihnewalat#ni  lash&=ne  ne>n tsyohly%hkwa>.
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